STAN B. HIRSCH

ATTORNEY AT LAW

4911 East 56th Street INDIANAPOLIS, INDIANA 46220

(317) 254-1443 ext. 231

FAX (317) 254-1449

RECEIVED

October 18, 2010

OCT 182010

Indiana Utility Regulatory Commission Attn: Secretary of the Commission Electricity Division 101 West Washington Street Suite 1500 East Indianapolis, Indiana 46204-3407 INDIANA UTILITY
REGULATORY COMMISSION

RE: Thirty Day Filing (Wholesale Power Tracker)

To Whom It May Concern:

In accordance with the Order of the Indiana Utility Regulatory Commission in Cause No., 34614 and pursuant to 170 IAC 1- 6 et. seq. Logansport Municipal Utilities, Electric Department, is filing for approval of a change in the wholesale power tracker for Electric Service.

The accompanying changes in schedules of rates are based solely upon the change in the cost of firm power, excluding the identifiable fuel costs, purchased by the utility computed in accordance with the Order in cause no. 34614 dated December 17, 1976.

Attached hereto you will find a copy of the Proof od Publication of the Notice of this filing.

Very truly yours,

Stan B. Hirsch

SBH

enclosures

cc: Paul Hartman, Logansport Municipal Electric Utility

Exhibit 9

MUNICIPAL ELECTRIC UTILITY LOGANSPORT, INDIANA

Appendix B

Purchased Power Cost Adjustment (Applicable to Rates RS, CS, MS, GS, and IP)

The Rate Adjustment shall be on the basis of a Purchased Power Cost Adjustment Factor, occasioned solely by changes in the cost of purchased power, in accordance with the order of the Public Service commission of Indiana, Approved December 17, 1976, in Cause No. 34614.

Rate: .013315

LOGANSPORT MUNICIPAL UTILITIES ELECTRIC DEPARTMENT MUNICIPAL POWER COST ADJUSTMENT TRACKING

Filed:

September 2010

Approved:

Effective:

January 1, 2011

INDEX

Exhibit #10

Exhibit #1 Statement Computation - Cost Exhibit #2 Calculation Exhibit #3 Computation - Tracking Exhibit #4 Exhibit #5 **Revised Contract** Exhibit #6 Schedule of Purchased/Generated Power PSI Billings Sept. 2009 – August 2010 Exhibit #7 Generating Reports Sept. 2009 -Exhibit #8 August 2010 Exhibit #9 Tariff

Notice

VERIFIED STATEMENT IN SUPPORT OF CHANGE IN SCHEDULE OF RATES

TO THE PUBLIC SERVICE COMMISSION OF INDIANA

- Public Service Commission of Indiana for its approval, a decrease in its schedule of rates for electricity sold in the Logansport Municipal Utilities, Electric Department, City Building, Logansport, Indiana, under and pursuant to the Public Service Commission Act, as amended, and Commission Order in Cause No. 34614, hereby filed with the amount of \$.003326
- the identifiable fuel costs, purchased by this utility computed in accordance with the Public Service Commission of 2. The accompanying changes in schedules of rates are based solely upon the change in the cost of firm power, excluding Indiana, Order #34614 dated December 17, 1976.
- 3. All matters and facts stated herein and in the attached exhibits are true and correct. If approved, this change of rate shall take effect for the next practical consumption period following the date of such approval

Logansport Municipal Electric Department

Paul A. Hartman, Superintendent

STATE OF INDIANA) COUNTY OF CASS)

day of September, 2010, Utilities; that he has read the matters and facts stated above, and all exhibits attached hereto, and that the same are true, that he is duly Paul A. Hartman, who after having been duly sworn according to law, stated that he is Superintendent of the Logansport Municipal 16th Personally appeared before me, a Notary Public in and for said County and State, this authorized to execute this instrument for and on behalf of the applicant herein.

My commission expires: February 14, 2018

NOTARY PUBLIC-Rita K. Berkshire Resident of Cass County

EXHIBIT 2

O Q	COMPANY NAME: ADDRESS:	LOGANSPORT MUNICIPAL UTILITIES, ELECTRIC DEPARTMENT CITY BUILDING, 601 E. BROADWAY, RM. 101, LOGANSPORT, IN 46947	AL UTILITIES, ELECTRIC ROADWAY, RM. 101, LO	DEPARTMENT GANSPORT, IN 46947			
z ш	NAME OF SUPPLIER CHANGING RATE EFFECTIVE DATE OF RATE CHANGE:	χχ	Di January 2011	DUKE ENERGY			
w	lased upon firm powe	Based upon firm power purchased for twelve months ended:	hs ended:	August 31, 2010			,
		#1 RATE #	#2	#3 UNITS BILLED	#4	#5 Cost of firm power purchased #6 at rates effective:	ased #6 live:
NAME OF SUPPLIER AND RATE COMPONENTS	A	IMMEDIATELY PRIOR TO CHANGE	AT CHANGED RATE	KW DEMAND	KWH ENERGY	IMMEDIATELY PRIOR TO CHANGE	AT CHANGED RATE
Duke Energy	Sept. 200	Sept. 2009 - August 2010					
Generation Transmission	Demand Demand Energy	16.28 0.78 0.028488	14.38 0.78 0.028503	595,474.0 685,464.0	326,363,994	\$9,694,316.72 534,661.92 9,297,457.46	\$8,562,916.12 534661.92 9,302,352.92
	True-up Charge for 2009	600				291,413.00	0.00
Less Fuel Cost B Total Contract	Base	0.023930	0.023930		326,363,994	7,809,890.38	7,809,890.38

Appendix A Exhibit 3

CALCULATION OF CHANGE IN COST OF FIRM POWER PURCHASED (PER KWH)

Company Name: LOGANSFOR Address: City Building, I Name of Supplier Changing Rates: Effective Date of Rate Change: Date of Notice: Sept. 2010	ricess: City Building, Logansport, Indiana 46947 ne of Supplier Changing Rates: Duke Energy e of Notice: Sept. 2010 Date Prepared: Sept. 2010 Date Prepared: Sept. 2010 Rate Decreion Rate Decreion Firm Downer Purchased for Twelve Months	Authority – FPC Docket No. Rate Decrease
(a) At rates immediately prior to rate change (Enter total from Exhibit 2, column 5)	ior to rate change it 2, column 5)	\$ 12,007,958.72
At the changed rates (E	(b) At the changed rates (Enter total from Exhibit 2, Column 6)	10,590,040.58
(Subtract Line 1 from	(Subtract Line 1 from Line 2 and enter Increase/Decrease)	(1,417,918.14)
(2) Determine Rate Tracking Factor		
rm power purchased (E	Total firm power purchased (Enter total from Exhibit 2, column 4)	326,363,944
Divide line 3 by Line 4 and enter result	er result	(.004345)

Appendix A Exhibit 4

LOGANSPORT MUNICIPAL ELECTRIC DEPARTMENT

Computation of Purchased Power Cost Adjustment Tracking Factor

Change in per kilowatt hour for firm power	er	(.004345)
Total output for period: Firm Power Purchased for Period: Percent	462,185,694 KWH 326,363,994 KWH 70.61 %	
Adjustment Factor (.004345) X 70.61 %		(.003068)
Adjustment for system losses 7.01 %		(.000215)
Adjustment for Indiana utility Receipts Ta	ax 1.4%	(.000043)
Change in Purchased Power Cost Adjustment Tracking Factor		(.003326)
Enter Current Rate Tracking Factor form effective computation of Purchased Pow Tracking Factor	<u> </u>	<u>.016641</u>
If Increase in Factor, add Line 5 and Line in Factor, subtract Line 5 form Line 6 an Rate Tracking Factor		\$.013315

Paul Hartman

From:

Neal, Kevin W [Kevin.Neal@duke-energy.com]

Sent:

Thursday, June 10, 2010 2:53 PM

To:

Paul Hartman

Subject: RE: Updated Formula Rates

Paul,

Attached are updated formula rates for the Firm Capacity & Energy PPA.

These rates will be effective January 1 through July 31, 2011.

In summary:

Demand (\$/kW)

Gen. Fuel (\$/MWH)

Gen. Energy

(\$/MWH)

01-07/2011

\$14.38

\$23.930

\$4.573

The main driver for the increased demand charge is the drop in 2009 load due to the economic conditions.

Please let me know if you have any additional questions.

Thanks

Kevin Neal Wholesale Relations & Business Management Duke Energy Indiana telephone: 317-838-6805

Fax:

317-838-2987

No virus found in this incoming message.

Checked by AVG - www.avg.com

Version: 9.0.829 / Virus Database: 271.1.1/2929 - Release Date: 06/10/10 02:35:00

		LOGANSPORT MUNICIPAL UTILITIES	PAL UTILITIES		Appendix A Schedule A	leA
	#	#2	#3	#	#2	9#
Date	Generation Demand	Transmission Demand	Purchased KWH	Generated	Total	Total
2009	KWH	KWH	Contract	KWI	KWH	KWH Sales
September	34,571.00	42,534.00	326,363,994	17,279,100	35,599,782	34,438,398
October	55,948.00	60,211.00	35,496,177	0	35,496,177	33,937,566
November	43,900.00	59,502.00	34,058,221	1,224,300	35,282,521	33,079,156
December	42,731.00	45,002.00	23,810,705	16,430,000	40,240,705	35,521,217
2010						
January	36,764.00	50,066.00	23,183,371	16,833,200	40,016,571	38,501,440
February	35,967.00	40,495.00	19,366,675	16,395,900	35,762,575	35,281,630
March	58,569.00	59,940.00	22,057,863	13,716,100	35,773,963	32,038,564
April	56,859.00	59,654.00	33,040,978	0	33,040,978	34,103,259
May	53,176.00	62,672.00	31,617,297	4,578,300	36,195,597	31,662,766
June	63,972.00	77,085.00	28,289,569	14,084,600	42,374,169	35,793,636
July	59,481.00	60,115.00	27,933,408	18,785,400	46,718,808	42,265,369
August	53,536.00	68,188.00	29,189,048	16,494,800	45,683,848	43,147,894
)	595,474.00	685,464.00	326,363,994	135,821,700	462,185,694	429,770,895
Total outpu	it: 462,185,694 less tot	Total output: 462,185,694 less total sales: 429,770,985=32,414,709/4,621,856.9=7.01 line loss	414,709/4,621,856.9=7.0	01 line loss		

Duke Energy Indiana, Inc. 221 East Fourth Street Cincinnati, Ohio 45202

Invoice #: LM 2019-09
Invoice Date: 10/08/09
Payment Due Date: 10/28/09

Logansport Municipal
City Building
801 East Broadway #101
Logansport, IN 46947-3186
Attn: LuAnn Davis
EMAIL ADDRESS: im.ut@worlzon.net

ABA No: 042 000 398

NOTE: Per Contract Payment should be made via ACH or Wire Remit To: "PNC Bank, Ohio Cinchmait, Ohio Duke Energy Account No: 411 075 4135

LOGANSPORT MUNICIPAL PURCHASE POWER AGREEMENT

Bill for electric service under the Cost-Based Formula Rate Agreement between DEI and Logansport Municipal, effective date of July 1, 2009 for the current month of September 2009. Coincident Peak was September 36, 2009 at the 2400 hour. Current Month									
Generation Demand Charge					42,534 KW @	\$11.95	\$	508,281.30	
Generation Energy Charge					18,320,682 KWH @	\$0.004590	\$	84,091.93 ×	
Generation Fuel Charge	, «		3		18,329,682 KWH @	\$0.024000	\$	439,596.38	
Fuel Adjustment Charge		٠			18,320,682 KWH @	(\$0.002013)	\$	(36,879.53)	
Total Current Month Billing								\$	995,190.07
Summer Capacity Payment for Use of I	Logansport Peaking						\$	(1,900.00) 🗠	

Total Net Due Duke Energy Indiana

993,290,07

For questions pertaining to billing, please contact Gretchen Compton (6/3) 418-535 Phone (6/3) 418-5724 Fax Gretchen Compton@Duke-Energy.com

THE RESERVENCE OF THE PROPERTY	CT 12 MM	
	DD4000	
Deceriment A	Alfat Water Sewage	in the second
	51900	The state of the s
Acol No.	APRIL \$ 99329	001
	manufactures interest and an analysis and a second and a s	- Anna Anna Anna Anna Anna Anna Anna Ann
	YD 19/3/	9% : 1
The second secon	XX 500 14131	

Duke Energy Indiana, Inc. 221 East Fourth Street Cincinnati, Ohio 45202

Logensport Municipal
City Building
601 East Broadway #101
Logensport, IN 46947-3186
Atm: LuAnn Davis
EMAIL ADDRESS: Im.ut@vertzon.net

10/08/09

NOTE: Per Contract Payment should be made via ACH or Wire

NOTE: Per Contract Payment: Remit To: PNC Benk, Onio Cincinnati, Ohio Duke Energy Account No: 411 075 4135 ABA No: 042 000 398

Coincident Peak was September 30, 2009 at the 2460 hour.

Transmission Demand (Schedule A)

42,534

\$9.78

33,176.52 🗹

Service Schedule B* Utilization of Surplus Transmission Line Capacity (2,156,004)

(2,156.00)

Operation & Maintenance Monthly Fee

KWH@

\$0.001

KW@

Repair & Replacement Charges

Total Current Billing

31,020.52

Total Net Due Duke Energy Indiana

31,020.52

*Service Schedule B *Detail to Follow after discussion with Duke Energy

A STATE OF THE PROPERTY OF THE	
Received: OCT 1 2 ZGUF	
Vendor: 004000	
Decertment Act Water Sewage	
First: Ola	
Acot. No. 15/200 33/765	Ž.
Dist Cords No. 99 Ame. \$ 3/020	32
140100 (215600)	•
Verification: 15 1012/09	
1) 00/0/12/09	

Duke Energy Indiana, Inc. 221 East Fourth Street Cincinnati, Ohio 45202

Logansport Municipal City Building 601 East Broadway #101 Logansport, IN 46947-3186 Attn: LuAnn Davis

EMAIL ADDRESS: Im.ut@verizon.net

NOTE: Per Contract Payment should be made via ACH or Wire Remit To:

PNC Bank, Ohio Cincinnati, Ohio Duke Energy

Account No: 411 075 4135 ABA No: 042 000 398 Street 45202

Invoice #: LM 2009 - 09
Invoice Date: 10/16/09
Payment Due Date: 11/05/09

LOGANSPORT MUNICIPAL PURCHASE POWER AGREEMENT

Bill for electric service under the Cost-Based Formula Rate Agreement between DEI and Logansport Municipal, effective date of July 1, 2009 for the current month of September 2009,

DEI Production Peak September 15, HE 1500. Logansport Peaking Resource was not used.

413,129.31 34,571 KW@ , \$11.95 Generation Demand Charge 84,091.93 18,320,682 KWH @ \$0.004590 Generation Energy Charge 18,320,682 KWH @ \$0.024000 439,696,38 Generation Fuel Charge 18,320,682 KWH @ (\$0.002013) (36,879.53) Fuel Adjustment Charge 80.880,008 Total Current Month Billing (1,900.00) Summer Capacity Payment for Use of Logansport Peaking July 2009 Generation Demand Charge Revised (credit due) (6,270,28) (18,215.50)1/ Aug 2009 Generation Demand Charge Revised (credit due)

Total Net Due Duke Energy Indiana

873,652,30

For questions pertaining to billing, please contact: Gretchen Compton

(513) 419-5395 Phone (513) 419-5724 Fax <u>Gretchen.Compton@Duke-Energy.com</u> 200909A

(95,151.99)

SIGNIFICATION CONTINUES AND	
Becalved: OCT 9 6 2009	Helpertano
Vendor: UOJOO	•
Department Sewage	
Furst: Oper	
Acot. No. 151900	
Dief Code No. And (95,15)	98)
A	
Verification: DI 10/10/09	
1 1 1 1 0 mg/0/14/09	?

RECEIVED ON: OCTOBER 18, 2010 IURC 30-DAY FILING NO.: 2762

Indiana Utility Regulatory Commission

Detail of Charges tor

Duke Energy Indiana, Inc. 221 East Fourth Street Cincinnati, Ohio 45202

Logansport Municipal
City Building
601 East Broadway #101
Logansport, IN 46947-3186
Attn: LuAnn Davis
EMAIL ADDRESS: Im.ut@verizon.net

NOTE: Per Contract Payment should be made via ACH or Wire

Remit To: PNC Bank, Ohio Cincinnati, Ohio Duke Energy Account No: 411 075 4135 ABA No: 042 000 398

Invoice #: LM 2009 - 10 Invoice Date: 11/05/09 Payment Due Date:

LOGANSPORT INTERCONNECTION AGREEMENT Coincident Peak was October 14, 2009 at HE 1200 hour. 46,964.58 KW@ \$0.78 60,211 Transmission Demand (Schedule A) KWH@ \$0.001 Service Schedule B* Utilization of Surplus Transmission Line Capacity Operation & Maintenance Monthly Fee Repair & Replacement Charges 46.964.58 Total Current Billing 46,964,58

*Service Schedule B

Amadyste delle

-	
Received:	NOV 0 9 2009
Vendor:	004000
Department	Nect Water Sewage
Fund:	Der
Acct. No.	151900
Dist Code I	40. Amt. s46. 96458
	A second
Verification	11/9/09
Posted:	Date:

Total Net Due Duke Energy Indiana

Duke Energy Indiana, Inc. 221 East Fourth Street Cincinnati, Ohio 45202

Logansport Municipal
City Building
601 East Broadway #101
Logansport, IN 46947-3186
Attn: LuAnn Davis
EMAIL ADDRESS: Im.ut@vertzon.net

NOTE: Per Contract Payment should be made via ACH or Wire Remit To: PNC Bank, Ohio Cincinnat, Ohio

Duke Energy Account No: 411 075 4135 ABA No: 042 000 398 Invoice #: LM 2009 e9
Invoice Date: fri/10/09
Payment Due Date: 1/1/30/09

LOGANSPORT MUNICIPAL	DESIDENTACE DOMED	ACDEEMENT

Bill for electric service under the Cost-Based Formula Rate Agreement between DEI and Logansport Municipal, effective date of July 1, 2009, for the current month of October 2009.

DEI Production Peak October 19, HE 0700. Logansport Peaking Resource was not used.

	Current Month			
Generation Demand Charge	55,948	KW@	\$11.95	\$ 668,580.87
Generation Energy Charge	35,496,177	KWH @	\$0.004590	\$ 162,927.45 🗸
Generation Fuel Charge	35,496,177	KWH @	\$0.024000	\$ 851,908.26
Fuel Adjustment Charge	35,496,177	KWH @	(\$0.002521)	\$ (89,485.86) 🗸
Total Current Month Billing	·			\$ 1,593,930.72
Summer Capacity Payment for Use of Logansport Peaking				\$ <u>.</u>

Total Net Due Duke Energy Indiana

\$ 1.593,930,72

For questions pertaining to billing, please contact: Gretchen Compton (513) 419-5395 Phone

(513) 419-5724 Fax Gretchen.Compton@Duke-Energy.com

Fleceived: NOV 1 0 2009

Vendor: 004000

Liect Water Sewage

Fund: (

Acct. No. 15190

Dist Code No.

Arnt. \$/070,7

Verification: 11/10/09

Date:////0/09

aa , s

Duke Energy Indiana, Inc. 221 East Fourth Street Cincinnati, Ohio 45202

Logansport Municipal City Building 601 East Broadway #101 Logansport, In 46947-3186 Attn: LuAnn Davis EMAIL ADDRESS: Im.ut@verizon.net invoice #: LM 2089 - 10 invoice Date: 12/09/09 Payment Due Date: 12/29/09

NOTE: Per Contract Payment should be made via ACH or Wire Remit To:
PNC Bank, Ohio

Remit To:
PNC Bank, Ohio
Cincinnati, Ohio
Duke Energy
Account No: 411 075 4135
ABA No: 042 000 398

LOGANSPORT INTERCONNECTION AGREEMENT Coincident Peak was November 23, 2009 at HE 1100 hour. 50,295.96 \$0.78 64,482 KW@ Transmission Demand (Schedule A) KWH@ \$0.001 Service Schedule B* Utilization of Surplus Transmission Line Capacity Operation & Maintenance Monthly Fee Repair & Replacement Charges 50,295,96 Total Current Billing \$ 50,295.96 Total Net Due Duke Energy Indiana

*Service Schedule B

The same of the sa	
Received: DEC n a 2009	The state of the s
Vendor: 004000	
Departments Fect Water Sewage	
Fund: Oper	and the second
Acct. No. 15/900	minima in man
Dist Code No. Amt. \$50295	76
A	- The state of the
Verification: US 13/9/09	or a series of bearing
'ostad: Date:	Total Carlo
	ā

Duke Energy Indiana, Inc. 221 East Fourth Street Cincinnati, Ohio 45202

Logansport Municipal
City Building
601 East Broadway #101
Logansport, IN 46947-3186
Attn: LuAnn Davis
EMAIL ADDRESS: Im.ut@verizon.net

NOTE: Per Contract Payment should be made via ACH or Wire

PNC Bank, Ohio Cincinnati, Ohio Duke Energy Account No: 411 075 4135 ABA No: 042 000 398 Invoice #: LM 2009 - 09 Invoice Date: 12/09/09 Payment Due Date: 12/29/09

I OGANSPORT MUNICIPAL	DUDCHASE DOMER	AGREEMENT
I CHEARLEDOK I MUNICIPAL	LOKOMOE LOMEN	MOIL MAN

Bill for electric service under the Cost-Based Formula Rate Agreement between DEI and Logansport Municipal, effective date of July 1, 2009 for the current month of November 2009.

DEI Production Peak November 30, HE 1900. Logansport Peaking Resource was not used.

	Current Month			 .	
Generation Demand Charge	50,538	KW @	\$11.95	\$ 603,932.21	
Generation Energy Charge	34,425,040	KWH @	\$0.004590	\$ 158,010.93	
Generation Fuel Charge	34,425,040	KWH @	\$6.024000	\$ 826,200.96	
Fuel Adjustment Charge	34,425,040	KWH @	\$0.000331	\$ 11,394.69	
Total Current Month Billing					\$ 1,599,538.79
Summer Capacity Payment for Use of Logansport Peaking				\$ -	

, Total Net Due Duke Energy Indiana

<u>\$ 1,599,538,79</u>

For questions pertaining to billing, please contact: Gretchen Compton (513) 419-5395 Phone (513) 419-5724 Fax Gretchen.Compton@Duke-Energy.com

Received: DEC 0 9 2009	
Vandor: 004000	
Department: Bewage	
Fund: (Mer	
Acct. No. 15/900	
Dist Code No. Amt. \$1,599,538	79
Verification: 12/9/09	
Posted: Date:	

Duke Energy Indiana, Inc. 221 East Fourth Street Cincinnati, Ohio 45202

Logansport Municipal City Building 601 East Broadway #101 Logansport, IN 46947-3186 Attn: LuAnn Davis EMAIL ADDRESS: Im.ut@verizon.net

NOTE: Per Contract Payment should be made via ACH or Wire Remit To:
PNC Bank, Ohio

PNC Bank, Ohio Cincinnati, Ohio Duke Energy Account No: 411 075 4135 ABA No: 042 000 398 Invoice St. LM 2009-11
Invoice Date: 12/09/09
Payment Due Date: 12/29/09
* REVISED Diff will be on the 12-09 invoice

LOGANSPORT INTERCONNECTION AGREEMENT

Coincident Peak was November 23, 2009 at HE 1100 hour.				
Transmission Demand (Schedule A) 59,502	KW@	\$0.78	X	\$ 46,411.56
Service Schedule B* Utilization of Surpius Transmission Line Capacity	KWH@	\$0.001		\$ -
Operation & Maintenance Monthly Fee		\sim	()	\$ -
Repair & Replacement Charges		~ (l	<i>//</i> ,	\$
Total Current Billing				\$ 46,411.56
Total Net Due Duke Energy Indiana	a)	<u>\$ 46,411.56</u>

*Service Schedule B

Poten 9

> Duke Energy Indiana, Inc. 221 East Fourth Street Cincinnati, Ohio 45202

Logansport Municipal City Building 601 East Broadway #101 Logansport, IN 46947-3186 Attn: LuAnn Davis EMAIL ADDRESS: lm.ut@verizon.net

NOTE: Per Contract Payment should be made via ACH or Wire Remit To:

PNC Bank, Ohio Cincinnati, Ohio Duke Energy Account No: 411 075 4135 ABA No: 042 000 398

LM 2009-09

Invoice# 12/09/09 Invoice Date: 12/29/09 ment Due Date:

LOGANSPORT MUNICIPAL PURCHASE POWER AGREEMENT

Bill for electric service under the Cost-Based Formula Rate Agreement between DEI and Logansport Municipal, effective date of July 1, 2009 for the current month of November 2009.

DEI Production Peak November 30, HE 1900. Logansport Peaking Resource was not used.

	Current Month			 	
eneration Demand Charge	43,900	KW @	\$11.95	\$ 524,610.74	
seneration Energy Charge	34,058,221	KWH @	\$0.004590	\$ 156,327.23	
Seneration Fuel Charge	34,058,221	KWH @	\$0.024000	\$ 817,397.30	
Fuel Adjustment Charge	34,058,221	кин @	\$0.000331	\$ 11,273.27	
COL ANGUAGUE OF THE SA					5 1.
Total Current Month Billing	,			,	, ,
Summer Capacity Payment for Use of Logansport Peaking				\$ -	

Total Net Due Duke Energy Indiana

\$ 1.509.608.54

For questions pertaining to billing, please contact: **Gretchen Compton**

(513) 419-5395 Phone (513) 419-5724 Fax

Gretchen.Compton@Duke-Energy.com

Duke Energy Indiana, Inc. 221 East Fourth Street Cincinnati, Ohio 45202

Logansport Municipal City Building 601 East Broadway #101 Logansport, IN 46947-3186 Attn: LuAnn Davis

EMAIL ADDRESS: lm.ut@verizon.net

NOTE: Per Contract Payment should be made via ACH or Wire Remit To:

PNC Bank, Ohio Cincinnati, Ohio Duke Energy Account No: 411 075 4135 ABA No: 042 000 398 Drong

Invoice #: Invoice Date: Payment Due Date:

LM 2009 - 09 12/09/09 12/29/09

Wrong

LOGANSPORT MUNICIPAL PURCHASE POWER AGREEMENT

Bill for electric service under the Cost-Based Formula Rate Agreement between DEI and Logansport Municipal, effective date of July 1, 2009 for the current month of November 2009.

DEI Production Peak November 30, HE 1900. Logansport Peaking Resource was not used.

	Current Month				
Generation Demand Charge	50,538	KW@	\$11,95	\$ 603,932.21	
Generation Energy Charge	34,425,040	KWH @	\$0.004590	\$ 158,010.93	
Generation Fuel Charge	34,425,040	KWH @	\$0.024000	\$ 826,200.96	
Fuel Adjustment Charge	34,425,040	KWH @	\$0.000331	\$ 11,394.69	
Total Current Month Billing				\$	1,59
•					
Summer Capacity Payment for Use of Logansport Peaking				\$ -	

Total Net Due Duke Energy Indiana

\$ 1.599.538.79

For questions pertaining to billing, please contact: Gretchen Compton (513) 419-5935 Phone (513) 419-5724 Fax Gretchen,Compton@Duke-Energy.com

000 (89,930.24)

Duke Energy Indiana, Inc. 221 East Fourth Street Cincinnati, Ohio 45202

REVISED

Invoice#: LM 2009-12 invoice Date: Payment Due Date:

01/14/10 02/03/10

port Municipal aty Building 601 East Broadway #101 Logansport, IN 46947-3186 Attn: LuAnn Davis EMAIL ADDRESS: Im.ut@verizon.net

NOTE: Per Contract Payment should be made via ACH or Wire

Remit To: PNC Bank, Ohio Cincinnati, Ohio

Duke Energy Account No: 411 075 4135

ABA No: 042 000 398

LOGANSPORT MUNICIPAL PURCHASE POWER AGREEMENT

Bill for electric service under the Cost-Based Formula Rate Agreement between DEI and Logansport Municipal, effective date of July 1, 2009 for the current month of December 2009.

DEI Production Peak December 10, HE 1900. Logansport Peaking Resource was not used.

	Current Month				
D. W. Charge	42,731	kw @	\$11.95	\$ 510,629.83 '	
Generation Demand Charge	23,810,705	KWH @	\$0.004590	\$ 109,291.13	
Generation Energy Charge	. 23,810,705	KWH @	\$0.024000	\$ 571,456.91	
Generation Fuel Charge	23,810,705	KWH @	\$0.001102	\$ 26,239.40	
Fuel Adjustment Charge					
	2				\$ 1,217,617.28
Total Current Month Billing					(89,930.25)
Prior Month NOV PPA Adjustment					

Total Net Due Duke Energy Indiana

Summer Capacity Payment for Use of Logansport Peaking

\$ 1,127,687,03

For questions pertaining to billing, please contact: Gretchen Compton

(513) 419-5395 Phone (513) 419-5724 Fax Gretchen.Compton@Duke-Energy.com

_				
Received:	JAN	1 4 2010		
Vendor:	60	4000	5	
Department	ti/ect	Water	Sewage	
Fund:	Der	The state of the s		
Acat, No	5190	0		
Dist Code No.		Amt. S	127,4	87.03
Works with a property of the state of the st				_
Verification:)ls	///	4/10	
Posted:	O WAS DO BY THE PROPERTY OF TH	Date:		,

nergy Indiana, Inc. 221 East Fourth Street Cincinnati, Ohio 45202

*music*ipal

Afing
of East Broadway #101
Logansport, IN 46947-3186
Attn: LuAnn Davis
EIMAIL ADDRESS: Im.ut@verizon.net

NOTE: Per Contract Payment should be made via ACH or Wire

Remit To:
PNC Bank, Ohio
Cincinnati, Ohio
Duke Energy
Account No: 411 075 4135
ABA No: 042 000 398

#rvoice #: LM 2009 - 12 #rvoice Date: 01/13/10 Payment Due Date: 02/02/10

	LOGAN	SPORT INTERC	ONNECTION AGREEME	NT	•	
Coincident Peak was December 9, 2009 at I	HE 1990 hour.					
Transmission Demand (Schedule A)	45,002	kw@	\$0.78		\$	35,101.56
Service Schedule B* Utilization of Surplus Transmission	(1,576,944) Line Capacity	KWH@	\$0.001		\$	(1,576.94)
Operation & Maintenance Monthly Fe	e ,			•	. \$	-
Repair & Replacement Charges					\$	-
Prior Month Adjustment - November					\$	(3,884.40)
Total Current Billing					. \$	29,540.22
	Total Net Due Duke Energy Indian	sa			<u>\$</u>	29.640.22

For questions pertaining to billing, please contact: Gretchen Compton (513) 419-5395 Phone (513) 419-5724 Fax.

COOK AND	4
Received: JAN 1 4 2010	
Vendor: 004000	
Department: Sewage	
Fund: (Der	-
Acot. No. 151 900 31,217	14
Dist Code No. 99 Amt. 5 29,64	022
140100 (157694)	
Verification: ///////O	
Posted: Date:	

> Duke Energy Indiana, Inc. 221 East Fourth Street Cincinnati, Ohio 45202

Logansport, IN 46947-3186
Attn: LuAnn Davis
EMAIL ADDRESS: Im.ut@verizon.net

NOTE: Per Contract Payment should be made via ACH or Wire Remit To: PNC Bank, Ohio

Cincinnati, Ohio Duke Energy Account No: 411 075 4135 ABA No: 042 000 398

Invoice #: LM 2009 - 11 12/09/09 Invoice Date: 12/29/09

> * REVISED Diff will be on the 12-09 invoice

LOGANSPORT INTERCONNECTION AGREEMENT

Coincident Peak was November 23, 2009 at HE 1100 hour.

Transmission Demand (Schedule A) 59,502

KWH@

\$0.78

\$0.001

46,411,56

Utilization of Surplus Transmission Line Capacity

Service Schedule B*

Operation & Maintenance Monthly Fee Repair & Replacement Charges

Total Current Billing

Total Net Due Duke Energy Indiana

Correct of

46,411.56

46,411.56

*Service Schedule B

> Duke Energy Indiana, Inc. 221 East Fourth Street Cincinnati, Ohio 45202

REVISED

-M-2009-09 Invoice Date:

Payment Due Date:

12/09/09 12/29/09

Logansport, IN 46947-3186 Attn: LuAnn Davis

EMAIL ADDRESS: lm.ut@verizon.net

NOTE: Per Contract Payment should be made via ACH or Wire

PNC Bank, Ohio Cincinnati, Ohio Duke Energy Account No: 411 075 4135 ABA No: 042 000 398

Caropios

LOGANSPORT MUNICIPAL PURCHASE POWER AGREEMENT

Bill for electric service under the Cost-Based Formula Rate Agreement between DEI and Logansport Municipal, effective date of July 1, 2009 for the current month of November 2009.

DEI Production Peak November 30, HE 1900. Logansport Peaking Resource was not used.

	Current Month			
Generation Demand Charge	43,900	KW @	\$11.95	\$ 524,610.74
Seperation Energy Charge	34,058,221	KWH @	\$0.004590	\$ 156,327.23
Seneration Fuel Charge	34,058,221	KWH @	\$0.024000	\$ 817,397.30
-uel Adjustment Charge	34,058,221	KWH @	\$0.000331	\$ 11,273.27
, aci radiosaticii. Ci iai go				

Total Current Month Billing

9,608.54

Summer Capacity Payment for Use of Logansport Peaking

Total Net Due Duke Energy Indiana

\$ 1,509,508,54

For questions pertaining to billing, please contact: **Gretchen Compton** (513) 419-5395 Phone

(513) 419-5724 Fax Gretchen.Compton@Duke-Energy.com

> Duke Energy Indiana, Inc. 221 East Fourth Street Cincinnati, Ohio 45202

asport Municipal city Building 601 East Broadway #101 Logansport, IN 46947-3186 Atin: LuAnn Davis EMAIL ADDRESS: Im.ut@verizon.net

Remit To:

PNC Bank, Ohio Cincinnati, Ohio Duke Energy Account No: 411 075 4135

ABA No: 042 000 398

NOTE: Per Contract Payment should be made via ACH or Wire

Invoice #: LM 2009 - 09 12/09/09 Invoice Date: Payment Due Date: 12/29/09

LOGANSPORT MUNICIPAL PURCHASE POWER AGREEMENT

Bill for electric service under the Cost-Based Formula Rate Agreement between DEI and Logansport Municipal, effective date of July 1, 2009 for the current month of November 2009.

DEI Production Peak November 30, HE 1900. Logansport Peaking Resource was not used.

	Current Month			 	
	50,538	KW @	\$11.95	\$ 603,932.21	
Generation Demand Charge	34,425,040	KWH @	\$0.004590	\$ 158,010.93	
Generation Energy Charge	34,425,040		\$0.024000	\$ 826,200.96	
Generation Fuel Charge	34,425,040		\$0.000331	\$ 11,394.69	
Fuel Adjustment Charge	34,423,040	, KWII &	***************************************		
The second secon					\$ 1,599,538.79
Total Current Month Billing				\$ -	
Summer Capacity Payment for Use of Logansport Peaking					

Total Net Due Duke Energy Indiana

\$ 1.599.538.79

For questions pertaining to billing, please contact: **Gretchen Compton** (513) 419-5395 Phone (513) 419-5724 Fax

Gretchen.Compton@Duke-Energy.com

Duke Energy Indiana, Inc. 221 East Fourth Street Cincinnati, Ohio 45202

-port Municipal
ony Building
601 East Broadway #101
Logansport, IN 46947-3186
Attn: LuAnn Davis
EMAIL ADDRESS: Im.ut@vertzon.net

Invoice #: LM 2010 - 1 Invoice Date: 02/11/10 Payment Due Date: 03/03/10

NOTE: Per Contract Payment should be made via ACH or Wire Remit To:

PNC Bank, Ohio Cincinnati, Ohio Duke Energy Account No: 411 075 4135 ABA No: 042 000 398

LOGANSPORT MUNICIPAL PURCHASE POWER AGREEMENT

Bill for electric service under the Cost-Based Formula Rate Agreement between DEI and Logansport Municipal, effective date of July 1, 2009 for the current month of January 2010.

DEI Production Peak January 5, HE 0800. Logansport Peaking Resource was not used.

	Current Month			
Generation Demand Charge	36,764	KW @	\$11.95	\$ 439,324.76 ^d
Generation Energy Charge	23,183,371	KWH @	\$0.004590	\$ 106,411.67 🗸
Generation Fuel Charge	23,183,371	KWH @	\$0.024000	\$ 556,400.90 🗸
Fuel Adjustment Charge	23,183,371	KWH @	(\$0.000114)	\$ (2,642.90) 🗸

Total Current Month Billing

\$ 1,099,494.42

Summer Capacity Payment for Use of Logansport Peaking

Total Net Due Duke Energy Indiana

\$ 1.099,494.42

For questions pertaining to billing, please contact: Gretchen Compton (513) 419-5395 Phone (513) 419-5724 Fax Gretchen.Compton@Duke-Energy.com

· · · · · · · · · · · · · · · · · · ·	وبنديا همجيلاه برقر إلما يبولدن بالطرياء	r . water water than the state of the state	and Statement of the last of t	
Received:	FEB 1	1 2010		Teachtrast.
Varior:	.00.	4000		- France in
Department	Exect	Water	Sewage	erte tanskip
Fund:	er			raunani
Acor. No.	5/90	0	ATTERNETICAL TO SECURITION OF THE CO. C.	entiferijak
Dist Code No.		Ant. s/C	99494	42
Total Harmon State Control of the Co			minimum kanalumika	
Verification:	W	3//	1110	
Postodia de la companya della compan		Date:	and the second s	
		To the second	The state of the s	ł

ergy indiana, Inc. 221 East Fourth Street Cincinnati, Ohio 45202

east Broadway #101 Logansport, IN 46947-3186 Attn: LuAnn Davis EMAIL ADDRESS: im.ut@verizon.net

NOTE: Per Contract Payment should be made via ACH or Wire Remit To: PNC Bank, Ohio Cincinnati, Ohio Duke Energy Account No: 411 075 4135

Invoice#: LM 2010-01 02/11/10 ment Due Date:

LOGANSPORT INTERCONNECTION AGREEMENT

Coincident Peak was January 11, 2010 at HE 1100 hour.

Transmission Demand (Schedule A)

50,066

KW@

\$0.78

\$ 39,051.48 (2,988.36) V

Service Schedule B* Utilization of Surplus Transmission Line Capacity

ABA No: 042 000 398

(2,988,360)

KWH@

\$0.001

3,000.00 🗸

Operation & Maintenance Monthly Fee

Repair & Replacement Charges

Total Current Billing

Total Net Due Duke Energy Indiana

\$ 39,063,12

s 39,063.12 V

For questions pertaining to billing, please contact: Gretchen Compton (513) 419-6395 Phone (513) 419-5724 Fax Greichen.Comp

to produce process of continues	AND REAL PROPERTY OF THE PROPE		
Neceived:	FEB 1 1 20	10	
Vendor:	00400)	
Department.	Avect Water	Sewage	
Fund:		,	300-111-100 M
Acct. No.	512003	9,051,48	оденные
Dist Gods No.	9D, Amt. S	34,063,	2
14010	DO (398	8,34)	distantian de la constantian della constantian d
Verification:	DIS 0	7///0	eriesteranskih
Posted:	Date:		-
SASS AND THE STATE STATE AND	152310	3000) C
/ 1			

221 East Fourth Street Cincinnati, Ohio 45202

aduate Analysis and Saladian S

Gity Building
601 East Broadway #101
Logansport, IN 46947-3186
Attn: LuArm Davis
EMAIL ADDRESS; im.ut@verizon.net

NOTE: Per Contract Payment should be made via ACH or Wire Remit To: PNC Bank, Ohio Cincinnati, Ohio

Duke Energy Account No: 411 075 4135 ABA No: 042 000 398 Invoice #: LM 2010-02 Invoice Date: 03/05/10 Payment Due Date: 03/25/10

LOGANSPORT INTERCONNECTION AGREEMENT

Coincident Peak was February 01, 2010 at HE 0800 hour.

31,586.10 \$0.78 40,495 KW@ Transmission Demand (Schedule A) (3,695.72) \$0.001 (3,695,724) KWH@ Service Schedule B* Utilization of Surplus Transmission Line Capacity 3,000.00 Operation & Maintenance Monthly Fee Repair & Replacement Charges 30,890.38 Total Current Billing \$ 30,890.38

Total Net Due Duke Energy Indiana

For questions pertaining to billing, please contact: Gretchen Compton (513) 419-6395 Phone (513) 419-6724 Fax Gretchen Compton@Duke-Energy.com

and interpretable statistics are while the state of the s	
MAR 0.5 2010	
Vendor: 004000	
Department: Exct Water Sewage	
Fund: UDLY	
Acat. No. 15/200 345841	0
Dist Gods No. 20 Art. \$70 890	3 <i>8</i>
140100 (349572)	
Varification: 10 35/10	
Portail: Date:	

Duke Energy Indiana, Inc. 221 East Fourth Street Cincinnati, Ohio 45202

> Invoice #: Invoice Date: Payment Due Date:

UN 2010-02 03/08/10 03/29/10

Courseport Municipal
City Building
601 East Broadway #101
Logansport, IN 46947-3186
Attn: LuAnn Davis
EMAIL ADDRESS: Im.ut@verizon.net

NOTE: Per Contract Payment should be made via ACH or Wire Remit To:

PNC Bank, Ohio Cincinnati, Ohio Duke Energy Account No: 411 075 4135 ABA No: 042 000 398

LOGANSPORT MUNICIPAL PURCHASE POWER AGREEMENT

Bill for electric service under the Cost-Based Formula Rate Agreement between DEI and Logansport Municipal, effective date of July 1, 2009 for the current month of February 2010.

DEI Production Peak February 12, HE 0800. Logansport Peaking Resource was not used.

	Current Month				
	35,967	KW@	\$11.95	\$	429,805.65
Generation Demand Charge	19,366,675	KWH @	\$0.004590	\$	88,893.04
Generation Energy Charge	19,366,675		\$0,024000	\$	464,800.20
Generation Fuel Charge	•	•	(\$0.000261)	\$	(5,054.70)
uei Adjustment Charge	19,366,675	KWH @	(\$0.000201)	•	•

Total Current Month Billing

\$ 978,444.19

Summer Capacity Payment for Use of Logansport Peaking

Total Net Due Duke Energy Indiana

s 978.444.1<u>9</u>

For questions pertaining to billing, please contact: Gretchen Compton

(513) 419-5395 Phone (513) 419-5724 Fax

Gretchen.Compton@Duke-Energy.com

Nago jung	(MAR 1 8 2010)
Winds.	004000
Oeparinent:	Elsc Weter Sowson
and the second s	Oper
40st No.	15 900
ert Code No.	Ame. 3978,444.
and the second s	and the second s
	Kon
	Ba 3/8/10

> Duke Energy Indiana, Inc. 221 East Fourth Street Cincinnati, Ohio 45202

> > Invoice#: Invoice Date: Payment Due Date:

LM 2010-03 04/08/10 04/29/10

Logansport Municipal City Building 601 East Broadway #101 Logansport, IN 46947-3186 Atin: LuAnn Davis EMAIL ADDRESS: lm.ut@verizon.net

NOTE: Per Contract Payment should be made via ACH or Wire

Remit To:

PNC Bank, Ohio Cincinnati, Ohio Duke Energy

Account No: 411 075 4135 ABA No: 042 000 398

LOGANSPORT MUNICIPAL PURCHASE POWER AGREEMENT

Bill for electric service under the Cost-Based Formula Rate Agreement between DEI and Logansport Municipal, effective date of July 1, 2009 for the current month of March 2010.

DEI Production Peak March 4, HE 0800. Logansport Peaking Resource was not used.

	Current Month			
Generation Demand Charge	58,569	KW @	\$11.95	\$ 699,899.55
Generation Energy.Charge	22,057,863	KWH @	\$0.004590	\$ 101,245.59
Generation Fuel Charge	22,057,863	KWH @	\$0.024000	\$ 529,388.71
Fuel Adjustment Charge	22,057,863	KWH @	(\$0.006234)	\$ (137,508.72)
			•	
Total Current Montin Billing				\$ 1,193,025.

Summer Capacity Payment for Use of Logansport Peaking

Total Net Due Duke Energy Indiana

\$ 1.193,025,14

For questions pertaining to billing, please contact: Mary Ann Amburgey (513) 419-5182 Phone (513) 419-5724 Fax MaryAnn.Amburgey@Duke-Energy.com

THE PARTY OF THE P)
Repeived: APR 0 9 2010	
Vendor: 004000	
Department: Sewage	
Fund: Oper	allaraure com
toot No /5/900	- Appendix
Diet Code No. Amt. \$//93.02	5.14
A photographic pho	dimental.
Verification: DIS 4/9/10	alterestation
Ported: Date:	**************************************
•	

Duke Energy Indiana, Inc. 221 East Fourth Street Cincinnati, Ohio 45202

Logansport Municipal
City Building
601 East Broadway #101
Logansport, IN 45947-3186
Attn: LuAnn Davis
EMAIL ADDRESS: Im.ut@verizon.net

NOTE: Per Contract Payment should be made via ACH or Wire Remit To: PNC Bank, Ohio Cincinnati, Ohio Duke Energy Account No: 411 075 4135 ABA No: 042 000 398

Invoice #: LM 2010 - 03 invoice Date: Payment Due Date: 04/08/10 04/29/10

	LOGANSPORT INTERC	ONNECTION AGREEME	INT		
Coincident Peak was March 4, 2010 at HE 1100 hour.	•				
Transmission Demand (Schedule A)	59,940 KW@	\$0.78		\$	46,753.20 🗸
Service Schedule B* Utilization of Surplus Transmission Line Capacity	(926,928) KWH@	\$0.001		\$	(926.93)
Operation & Maintenance Monthly Fee	•		, -	\$	3,000.00
Repair & Replacement Charges				\$	· -
				\$	-
Total Current Billing				\$	48,826.27
Total Net Due Du	uke Energy Indiana			<u>s</u>	48,826.27

For questions pertaining to billing, please contact: Gretchen Compton (513) 419-5395 Phone (513) 419-5724 Fax Gretchen.Compton@Duke-Energy.com

7

Duke Energy Indiana, Inc. 221 East Fourth Street Cincinnati, Ohio 45202

Logansport Municipal City Building 601 East Broadway #101 Logansport, IN 46947-3186 Attn: LuAnn Davis

EMAIL ADDRESS: Im.ut@verizon.net

NOTE: Per Contract Payment should be made via ACH or Wire

Remit To:

PNC Bank, Ohio Cincinnati, Ohio Duke Energy

Account No: 411 075 4135

ABA No: 042 000 398

Invoice #: LM 2010 - 04 Invoice Date: 05/06/10 Payment Due Date: 05/26/10

LOGANSPORT MUNICIPAL PURCHASE POWER AGREEMENT

Bill for electric service under the Cost-Based Formula Rate Agreement between DEI and Logansport Municipal, effective date of July 1, 2009 for the current month of April 2010.

DEI Production Peak April 14, HE 14:00 Logansport Peaking Resource was not used.

	Current Month				
Generation Demand Charge	56,85	e kwoe	\$11.95	· \$	679,465.05
Generation Energy Charge	33,040,97	8 KWH @	\$0.004590	\$	151,658.09 🛩
Generation Fuel Charge	33,040,97	s кwн ф	\$0.024000	\$	792,983.47
Fuel Adjustment Charge	33,040,97	78 KWH @	\$0.001715	\$	56,665.28

Total Current Month Billing

\$ 1,880,771.89

Summer Capacity Payment for Use of Logansport Peaking

Total Net Due Duke Energy Indiana

\$ 1.680,771.89

For questions pertaining to billing, please contact:
Gretchen Compton
(513) 419-5395 Phone
(513) 419-5724 Fax
Gretchen.Compton@Duke-Energy.com

THE RESIDENCE OF THE PROPERTY	
Received: MAY 0 7 2019	Parteca!
Varidor: 004000	errer estima
Department: Fect Water Sawage	T PHE DATE
Fund: Olu	
Acct. No. 15/900	
Dist Code No. Amt. \$ 680 77	188
Verification: NO 5/4/10	-
POSITIO	
The state of the s	

Duke Energy Indiana, Inc. 221 East Fourth Street Cincinnati, Ohio 45202

Municipal
Building
601 East Broadway #101
Logansport, IN 46947-3186
Attn: LuAnn Davis
EMAIL ADDRESS: lm.ut@verizon.net

NOTE: Per Contract Payment should be made via ACH or Wire

Remit To:
PNC Bank, Ohio
Cincinnati, Ohio
Duke Energy
Account No: 411 075 4135
ABA No: 042 000 398

Invoice #: LM '2010 - 04 Invoice Date: 05/06/10 Payment Due Date: 05/26/10

LOGANSPORT INTERCONNECTION AGREEMENT

Coincident Peak was April 15, 2010 at HE 1300 hour.

Transmission Demand (Schedule A)	59,654 KW@	\$0.78	\$ 46,530.12 ¹
Service Schedule B* Utilization of Surplus Transmission Line Capacity	- KWH@	\$0.001	
Operation & Maintenance Monthly Fee		,	\$ 3,000.00
Repair & Replacement Charges			\$ -
			\$ -
Total Current Billing			\$ 49,530.12
in. 数ec.	hadaa Parama ladlana		\$49,530.12 <i>></i>
Total Net Due L	Duke Energy Indiana		

For questions pertaining to billing, please contact: Gretchen Compton (513) 449-5325 Phone (513) 449-5725 Fax Gretchen.Compton@Duke-Energy.com

Pscelved:	MAY	0 7 2010	
i Vendor:	004	1000)
Department A	ect	Water	Sewage
Fund: UDE	た へ		
Acct. No.	190	0	
Dist Code No.	Å	imt. \$ //	530/
A .		~	
Verification:	\(\)	2/17	110
Protest:	D		- Сенте биваненциз ировно

Duke Energy Indiana, Inc. 221 East Fourth Street Cincinnati, Ohio 45202

Logansport Municipal
City Building
601 East Broadway#101
Logansport, IN 46947-3186
Attn; LuAnn Davis
EMAIL ADDRESS: Im.ut@venizon.net

ABA No: 042 000 398

NOTE: Per Contract Payment should be made via ACH or Wire Remit To:
PNC Sank, Ohio
Cincinnal, Ohio
Duka Energy
Account No. 411 075 4135

Invoice #: LM 2010 - 05 invoice Date: 06/10/16 Payment Due Date: 06/20/10

LOGANSPORT MUNICIPAL	PURCHASE POWER	ACCOUNT

Eill for electric service under the Cost-Based Formula Rate Agreement between DEI and Logansport Municipal, effective date of July 1, 2009 for the current month of May 2010.

DEI Production Peak May 26, HE 18:00 Logansport Peaking Resource was not used.

Current Month Generation Demand Charge 53,176 kW @ \$11.95 635,453,20 Generation Energy Charge 31,617,297 KWh @ \$0.004590 145,123,39 Generation Fuel Charge 31,617,297 kWh @ 758.815.13 \$0.024000 Fuel Adjustment Charge 31,617,297 kWh @ (\$0.002932) (92,701.91)

Total Current Month Billing

\$ 1,446,689.81

Summer Capacity Payment for Use of Logansport Peaking

Total Net Due Duke Energy Indiana

\$ 1,446,689.81

For questions pertaining to billing, please contact: Kristina Aligood (704) 382-5366 Phone

(704) 362-5366 Prione (704) 382-0181 Fax kristina.allgood@duke-energy.com

Received JUN 1 0 2010	
Vendor: CO4000	
Department Act Water Sawage	
Fund: W	
Acrt No 15/900	مصا
Dist Code No. Amt. \$/444068	181
A	
Verification: / V 4/10/10	
Posted: Date:	

Duke Energy Indiana, Inc. 221 East Fourth Street Cincinnati, Ohio 45202

Cogansport Municipal
City Building
601 East Broadway #101
Logansport, IN 46947-3186
Attn: LuAnn Davis
EMAIL ADDRESS: Im.uti@verizon.net

ABA No: 042 000 398

Service Schedule B*

Coincident Peak was May 24, 2010 at HE 1500.

Transmission Demand (Schedule A)

Operation & Maintenance Monthly Fee Repair & Replacement Charges

Total Current Billing

Utilization of Surplus Transmission Line Capacity

NOTE: Per Contract Payment should be made via ACH or Wire Remit To:
PNC Bank, Ohio
Cincinnati, Ohio
Duke Energy
Account No: 411 075 4135

invoice #: LM 2010 - 05 Invoice Date: 06/10/10 Payment Due Date: 06/20/10

51,221,69

\$ 51,221.69

Total Net Due Duke Energy Indians

For questions pertaining to billing, please contact: Kristina Aligood (704) 382-5366 Phone (704) 382-0181 Fex

kristina.aligood@duke-energy.com

Received: JUN 1 0 2010	Edecarios de la Companya de la Compa
Vendor: UHOUP	zen ome nsk
Department Bewage	Edinasiani Edinasiani
Fund: UM	montanan
Acct. No. 15/100 5/884/4	THE STATE OF THE S
Dist Code No. 90, Amt. \$5/33/1	9
140/02 (662,47)	
Verification: \\ \\ \\ \\ \\ \\ \\ \\ \\ \\ \\ \\ \\	Territoria de la constanta de
Posted: Cate:	omenanta subsection of the sub

Duke Energy Indiana, Inc. 221 East Fourth Street Cincinnati, Ohio 45202

Logansport Municipal City Building 601 East Broadway #101 Logansport, IN 46947-3186 Attn: LuAnn Davis EMAIL ADDRESS: Im.ut@vertzon.net Invoice #: LM 2010 - 06 Invoice Date: 97/09/10 Payment Due Date: 97/29/10

NOTE: Per Confract Payment should be made via ACH or Wire Remit To: PNC Bank, Ohio Cincinnati, Ohio

Cincinnati, Ohio Duke Energy Account No: 411 075 4135 ABA No: 642 000 398

LOGANSPORT MUNICIPAL PURCHASE POWER AGREEMENT

Bill for electric service under the Cost-Based Formula Rate Agreement between DEI and Logansport Municipal, effective date of July 1, 2009 for the current month of June 2010.

DEI Production Peak June 23,2010 HE 16:00

<u> </u>	urrest Month			 	
Generation Demand Charge	63,972 ki	w @	\$11.95	\$	764,465.40 V
Generation Energy Charge	28,289,569 K	un e	\$0.004590	\$	129,849.12 🗸
Generation Fuel Charge	28,289,569 K	Wh @	\$0.024000	\$	678,949.66
Firet Artisrament Charge	28,289,569 K	wa e	\$0.004357	\$	123,540.55

Total Current Month Billing

\$ 1,696,804.73

Summer Capacity Payment for Use of Logansport Peaking

Total Net Due Duke Energy Indiana

\$ (2,540.00) \$ 1,694,764.73

For questions pertaining to billing, please contact: Kristina Aligood (704) 382-5366 Phone (704) 382-0181 Fax kristina.aligood@duke-energy.com

•		THE PERSON NAMED IN COLUMN TWO IS NOT THE OWNER, THE
Fiscalved:	JUL 1 2 2018	
Vendor:	1004000	2
Department	Exect Water	Sewage
7/	Der.	Land
Fund: A	31900	
Acct. No.	Amt s/	094,744
Dist Code No.	Allier 4	
CC. Type was provided to the second second second	50	12/10
Varification:	and the second	
	Dete:	

Duke Energy Indiana, Inc. 221 East Fourth Street Cincinnati, Ohio 45202

Logansport Municipal
City Building
601 East Broadway #101
Logansport, IN 46947-3186
Attn: LuAnn Davis
EMAIL ADDRESS: Im.ut@verizon.net

NOTE: Per Contract Payment should be made via ACH or Wire

PNC Bank, Onio Cincinnati, Onio Duke Energy Account No: 411 075 4135 ABA No: 042 000 398 Invoice #: LM 2010 - 06 Invoice Date: 67/09/10 Payment Due Date: 07/29/10

Coincident Peak was June 28, 2010 at HE 1500	LOGAN	ISPORT INTER	RCONNECTION AGREEMENT	
Transmission Demand (Schedule A) Service Schedule B* Utilization of Surplus Transmission Line Capacity Operation & Maintenance Monthly Fee	77,085 (921,924)	kw@ kwh@	\$0.78 \$0.991	\$ 60,126.30 (921.92) (
Repair & Replacement Charges Total Current Billing				\$ 3,000.00 V
_	ke Energy Indiana			\$ 62,204,38

For questions pertaining to billing, please contact:
Kristina Aligood
(704) 382-5366 Phone
(704) 382-0181 Fax
kristina aligood@duke-energy.com

CONCREDE			_	
Recaived(JUL	1 2 2010	\supset	entangents.
Vardor:	DO	4000		A response
Department:	Evect	Water	Sewage	(Cressonia)
Fund:	DC			rije katoromer
Acct. No	5/800	063.6	2630	***
Dist Code No.	(99)	Amt. & U	2204	38
140100	0 /9	2192		
Verification:	55	7//	4/10	
inched:		Date:		

RECEIVED ON: OCTOBER 18, 2010 IURC 30-DAY FILING NO.: 2762

Indiana Utility Regulatory Commission

adulada de salitation

Duke Energy Indiana, Inc. 221 East Fourth Street Cincinnati, Ohio 45202

> Invoice #: Invoice Date: Payment Due Date:

08/08/10 08/08/10

City Building
601 East Broadway #101
Logansport, IN 46947-3186
Attn: LuAnn Davis
EMAIL ADDRESS: Im.ut@verizon.net

NOTE: Per Contract Payment should be made via ACH or Wire Remit To:
PNC Bank, Ohio
Clincinnati, Ohio
Duke Energy
Account No: 411 075 4135
ABA No: 042 000 398

LOGANSPORT	MUNICIPAL	PURCHASE	POWER	AGREEMENT

Bill for electric service under the Cost-Based Formula Rate Agreement between DEI and Logansport Municipal, effective date of July 1, 2009 for the current month of July 2010.

DEI Production Peak July 23, 2010 HE 16:00

	Current Month			
Generation Demand Charge	59,481	kW @	\$11.95	\$ 710,797.95
Generation Energy Charge	27,933,408	kWh @	\$0.004590	\$ 128,214.34
Generation Fuel Charge	27,933,408	kWh @	\$0.024000	\$ 670,401.79
First Adjustment Charge	27,933,408	kWh @	\$0,001982	\$ 55,364.01

Total Current Month Billing

\$ 1,564,778.10

Summer Capacity Payment for Use of Logansport Peaking

Total Net Due Duke Energy Indiana

\$ (18,360.00)

\$ 1,546,418.10

For questions pertaining to billing, please contact: Kristina Aligood

(704) 382-5366 Phone (704) 382-0181 Fax kristina.ailgood@duke-energy.com

· · · · · · · · · · · · · · · · · · ·	***	A SECTION OF THE CONTRACTOR OF THE CONTRACTOR	**	100
1909W6d:	AUG	0 9 2010		and charge or
Vendor:		7400	0	Telegraph.
Oepartment:	Elect. X	Water	Sewage	
"und: (Donat	ina		
Acct. No.	15i	966		
Jist Code No.		Amt. \$.	546,418	٠١.
Varification:	Kan	,		
- Casimi:	La.	Date: 8	101	

> Duke Energy Indiana, Inc. 221 East Fourth Street Cincinnati, Ohio 45202

LM 2010 - 07 08/06/10 08/26/10

invoice Date:

Payment Due Date:

Subding with the second second

NOTE: Per Contract Payment should be made via ACH or Wire Remit To: PNC Bank, Ohio Cincinnati, Ohio Duke Energy Account No: 411 075 4135

ABA No: 042 000 398

LOGANSPORT INTERCONNECTION AGREEMENT Coincident Peak was July 23, 2010 at HE 1500. 46,889.70 60,115 kW@ \$0.78 Transmission Demand (Schedule A) (1,208.20) -(1,208,196) \$0.001 kWh@ Service Schedule B* Utilization of Surplus Transmission Line Capacity 3,000.00 Operation & Maintenance Monthly Fee Repair & Replacement Charges 48,681.50 Total Current Billing 48,681.50 Total Net Due Duke Energy Indiana

For questions pertaining to billing, please contact: Kristina Aligood (704) 382-5366 Phone (704) 382-0181 Fax kristina.aligood@duke-energy.com

Considerational damentations (1) message over	Talked and the state of the sta	A THE PERSON NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TWO IS N	artic many assessment of the state of the st
FEGGIVECT	AUG	0 9 2010	
Vendor:		0400) (
Department:	Eleot X	Water	Sewage
Ting.	Opera	iting	Augusto
Acot. No. 15	51900	49,8	89,70
Dist Code No. (99)	Anx. \$ 4	8,681.50
140100	(18	108,20	
Verification: 3	Sai	i siyaanayada-maaliki asalaa sa ka aada sa aa	
Posted: 2	Jon	Dete S	19/10

luke Energy Indiana, Inc. 221 East Fourth Street Cincinnati, Ohio 45202

LOGANSPORT INTERCONNECTION AGREEMENT

Logansport Municipal
City Bullding
601 East Broadway #101
Logansport, IN 46947-3186
Attn: LuAnn Davis
EMAIL ADDRESS: Im.ut@verizon.net

NOTE: Per Contract Payment should be made via ACH or Wire Remit To:
PNC Bank, Ohio
Cinclmati, Ohio
Duke Energy

Account No: 411 075 4135 ABA No: 042 000 398

Coincident Peak was August 9, 2010 at HE 1500.

Utilization of Surplus Transmission Line Capacity

Total Net Due Duke Energy Indiana

Transmission Demand (Schedule A)

Operation & Maintenance Monthly Fee Repair & Replacement Charges

Total Current Billing

Service Schedule B*

Invoice #: LM 2010 - 08 Invoice Date: 09/10/10 Payment Due Date: 09/30/10

54,371.63 ″

54,371.63

68,188	kw@	\$0.78	\$	53,186.64
(1,815,012)	kWh@	\$0.001	\$	(1,815.01)
			\$	3,000.00
			\$	-

For questions pertaining to billing, please contact; Kristina Aligood (704) 362-5366 Phone (704) 382-0181 Fax kristina.aligood@duke-energy.com

Posted: SEP 1 3 2010

Veridor: OU4000

Department: Vect Water Sawage

Fund: OU5000 54, 1849, 44

Dist Code No. Amt. \$54377.43

Verification: Date:

> Duke Energy Indiana, Inc. 221 East Fourth Street Cincinnati, Ohio 45202

Logansport Municipal City Building 601 East Broadway #101 Logansport, IN 46947-3186 Attn: LuAnn Davis

LM 2010 - 08 Invoice Date: 09/17/10 09/30/10

EMAIL ADDRESS: Im.ut@verizon.net

NOTE: Per Contract Payment should be made via ACH or Wire Remit To: PNC Bank, Ohio Cincinnati, Ohio

Duke Energy Account No: 411 075 4135 ABA No: 042 000 398

LOGANSPORT MUNICIPAL PURCHASE POWER AGREEMENT

Bill for electric service under the Cost-Based Formula Rate Agreement between DEI and Logansport Municipal, effective date of July 1, 2009 for the current month of August 2010.

DEI Production Peak August 4, 2010 HE 17:00

	Current Month		
Generation Demand Charge	53,536 kW (<u>9</u> \$16.28	\$ 871,566.08
Generation Energy Charge	29,189,048 kWh (50.004 558	\$ 133,043.68
Generation Fuel Charge	29,189,048 kWh	තු \$0.023930	\$ 698,493.92
Fuel Adjustment Charge	29,189,048 kWh	g \$0.000733	\$ 21,395.57

Total Current Month Billing \$ 1,724,499.25

Summer Capacity Payment for Use of Logansport Peaking

(18,360.00)

2009 Final True-up payment amount per contract

58,283.00

Total Net Due Duke Energy Indiana

\$ 1,764,422.25

For questions pertaining to billing, please contact: Kristina Aligood (704) 382-5366 Phone (704) 382-0181 Fax kristina.allgood@duke-energy.com

	SEP 1 ?	2010	\sum	ALIA MARIANTA
Weglor:	100	1000		e service de la constante de l
Department:	Xlect	Water	Sewsge	sources and the
Fund: U	D.	^^		estatus est
Acot. No.	5190	96)		National Control
Dist Code No.	Name of Garage of Strate Strategy and Assessment	Ami. 5	8,283,	00
and the state of t				THE WAS STATED
Verification:	55_	9//	7/10	(CENTRES)
Poster:	and the same of	Date:	A TONE OF THE STATE OF THE STAT	ATTRACTOR .

NERLION DEPARTMENT

SEPTEMBER 2009 SYSTEM POWER REPORT

Generated	kWH	Purchased	kWH	City	Water
kWh TG # 4	6,903,000	PSI Purch Supplemental	18,320,682	(gall	ons)
				Water 6"	15,683,000
kWh TG # 5	10,376,100	PSI Purch Reserved	0		
				Water 12"	47,829,000
Total kWh / Coal	17,279,100	PSI Purch Backup	0		
				Total Water	63,512,000
kWh / CT #6	0	PSI Purch Total	18,320,682		
Gross Gen	17,279,100	LMU System Total	34,593,962	Condenser	Water
			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	(gal	lons)
Plant Aux	1,005,820	Wheeling	2,156,004	Cooling #4	366,150,000
Net Gen	16,273,280			Cooling #5	432,000,000
Net Gen	10,270,200			Cooming in C	402,000,000
				Total Cooling	798,150,000
Coal	Tons	Operating Time	Hours		
Coal Start	7,990.39	Bir 5 / TG #4 Hrs Oper	720.0		
				Heat Rate	Btu
Coal Received	11,114.37	Bir 6 / TG #5 Hrs Oper	720.0	Boiler #5	15,885
Coal Burn Blr #5	4,767.69	CT #6 Hrs Oper	0.00	Boiler #6	13,208
Coal Burn Blr #6	5,958.42			Gross Coal	14,277
		Natural Gas	MCF		-
Tot Coal Burn	10,726.11	Gas Burn CT #6	0 .	Net Coal	15,160
Coal End	8,378.65			CT #6 Gas	#DIV/0!
					<u> </u>
Notes:	SUPPLEMEN	TAL PEAK PURCHASE \	NAS 42,910 KV	VH @ 12:00 ON	THE 22ND
	SYSTEM PEA	K WAS 69,360 KWH @ 1	14:00 ON THE 10	OTH_	

ERATION DEPARTMENT

OCTOBER 2009 SYSTEM POWER REPORT

Generated	kWH	Purchased	kWH	City	Water
kWh TG#4	0	PSI Purch Supplemental	35,496,177	(gall	ons)
				Water 6"	1,138,000
kWh TG # 5	0	PSI Purch Reserved	0		
				Water 12"	1,770,000
Total kWh / Coal	0	PSI Purch Backup	0		
				Total Water	2,908,000
kWh / CT #6	0	PSI Purch Total	35,496,177		
Gross Gen	0	LMU System Total	35,496,177	Condenser	Water
				(gal	ons)
Plant Aux	0	Wheeling	0	Cooling #4	0
Net Gen	0			Cooling #5	0
				Total Cooling	0
Coal	Tons	Operating Time	Hours		
Coal Start	8,378.65	Blr 5 / TG #4 Hrs Oper	0.0		
				Heat Rate	Btu
Coal Received	0.00	Bir 6 / TG #5 Hrs Oper	0.0	Boiler #5	#DIV/0!
Coal Burn Blr #5	0.00	CT #6 Hrs Oper	0.00	Boiler #6	#DIV/0!
Coal Burn Blr #6	0.00			Gross Coal	#DIV/0!
		Natural Gas	MCF		
Tot Coal Burn	0.00	Gas Burn CT #6	0	Net Coal	#DIV/0!
Coal End	8,378.65			CT #6 Gas	#DIV/0!
-				·	
	·				
<u>Notes:</u>	SUPPLEMEN	TAL PEAK PURCHASE	WAS 67,280 KV	VH @ 10:00 ON	THE 12TH
	SYSTEM PEA	AK WAS 67,180 KWH @ 1	10:00 ON THE 12	2TH_	

NERATION DEPARTMENT

NOVEMBER 2009 SYSTEM POWER REPORT

Generated	kWH	Purchased	kWH	City	Water
kWh TG#4	0	PSI Purch Supplemental	34,058,221	(gall	ons)
				Water 6"	1,625,000
kWh TG # 5	1,224,300	PSI Purch Reserved	0		·
				Water 12"	4,384,000
Total kWh / Coal	1,224,300	PSI Purch Backup	0		
		·		Total Water	6,009,000
kWh / CT #6	0	PSI Purch Total	34,058,221		
Gross Gen	1,224,300	LMU System Total	35,129,021	Condenser	Water
				(gall	ons)
Plant Aux	153,500	Wheeling	0	Cooling #4	0
Net Gen	1,070,800			Cooling #5	125,660,000
				Total Cooling	125,660,000
Coal	Tons	Operating Time	Hours		
Coal Start	8,378.65	Blr 5 / TG #4 Hrs Oper	0.0		
		,		Heat Rate	Btu
Coal Received	0.00	Blr 6 / TG #5 Hrs Oper	177.0	Boiler #5	#DIV/0!
Coal Burn Bir #5	0.00	CT #6 Hrs Oper	0.00	Boiler #6	15,327
Coal Burn Blr #6	815.87			Gross Coal	15,327
		Natural Gas	MCF		
Tot Coal Burn	815.87	Gas Burn CT #6	0	Net Coal	17,524
Coal End	7,562.78			CT #6 Gas	#DIV/0!
		TAL DEAK DURGUNGE	NAA 0.1.000 in	#1 O 00 00 00 00	THE COT!
Notes:		TAL PEAK PURCHASE			<u> </u>
	SYSTEM PEA	AK WAS 64,830 KWH @	<u>09:00 ON THE 20</u>	JIH_	

RECEIVED ON: OCTOBER 18, 2010 IURC 30-DAY FILING NO.: 2762

ERATION DEPARTMENT

Indiana Utility Regulatory Commission

DECEMBER 2009 SYSTEM POWER REPORT

Generated	kWH	Purchased	kWH	City	Water
kWh TG#4	6,245,000	PSI Purch Supplemental	23,810,705	(gall	ons)
				Water 6"	5,794,000
kWh TG # 5	10,185,000	PSI Purch Reserved	0		
				Water 12"	21,170,000
Total kWh / Coal	16,430,000	PSI Purch Backup	0		
				Total Water	26,964,000
kWh / CT #6	0	PSI Purch Total	23,810,705		
Gross Gen	16,430,000	LMU System Total	39,280,365	Condenser	Water
01030 0011	10,100,000		39,280,363		lons)
Plant Aux	960,340	Wheeling	1,576,944	Cooling #4	271,872,000
Net Gen	15,469,660			Cooling #5	392,832,000
·					
				Total Cooling	664,704,000
Coal	Tons	Operating Time	Hours		
Coal Start	7,562.78	Blr 5 / TG #4 Hrs Oper	729.8		-
				Heat Rate	Btu
Coal Received	9,100.64	Bir 6 / TG #5 Hrs Oper	744.0	Boiler #5	14,747
Coal Burn Blr #5	4,004.20	CT #6 Hrs Oper	0.00	Boiler #6	12,141
Coal Burn Blr #6	5,376.18			Gross Coal	13,131
		Natural Gas	MCF		
Tot Coal Burn	9,380.38	Gas Burn CT #6	0	Net Coal	13,947
Coal End	7,283.04			CT #6 Gas	#DIV/0!
Jour Line	,,				
Notes:	SUPPLEMEN	TAL PEAK PURCHASE	WAS 47,890 KW	/H @ 14:00 ON	THE 2ND
	SYSTEM PEA	AK WAS 72,220 KWH @ 0	09:00 ON THE 16	STH_	

VERATION DEPARTMENT

JANUARY 2010 SYSTEM POWER REPORT

Generated	kWH	Purchased	kWH	City	Water `
kWh TG#4	6,791,000	PSI Purch Supplemental	23,183,371	(gall	ons)
				Water 6"	4,247,000
kWh TG # 5	10,042,200	PSI Purch Reserved	0		
	·			Water 12"	15,413,000
Total kWh / Coal	16,833,200	PSI Purch Backup	0		
				Total Water	19,660,000
kWh / CT #6	0	PSI Purch Total	23,183,371		
Gross Gen	16,833,200	LMU System Total	39,024,991	Condenser	Water
			32,021,322	(gal	ons)
Plant Aux	991,580	Wheeling	2,988,360	Cooling #4	318,110,000
Net Gen	15,841,620		·	Cooling #5	380,840,000
				Total Cooling	698,950,000
Coal	Tons	Operating Time	Hours		
Coal Start	7,283.04	Bir 5 / TG #4 Hrs Oper	744.0		
				Heat Rate	Btu
Coal Received	7,484.80	Bir 6 / TG #5 Hrs Oper	744.0	Boiler #5	15,479
Coal Burn Blr #5	4,570.48	CT #6 Hrs Oper	0.00	Boiler #6	12,830
Coal Burn Bir #6	5,601.82			Gross Coal	13,899
		Natural Gas	MCF		
Tot Coal Burn	10,172.30	Gas Burn CT #6	0	Net Coal	14,769
Coal End	4,595.54			CT #6 Gas	#DIV/0!
	OLIDDI EMEN	TAL DEAK DUDOUAGE	WAS 40 920 KM	A/L @ 11:00 ON	TUE 11TU
Notes:		TAL PEAK PURCHASE			1051110
	SYSTEMPEA	AK WAS 80,510 KWH @	20:00 ON THE 4	<u> </u>	

ATION DEPARTMENT

FEBRUARY 2010 SYSTEM POWER REPORT

Generated	kWH	Purchased	kWH	City	Water
kWh TG#4	6,591,000	PSI Purch Supplemental	19,366,675	(galle	ons)
				Water 6"	3,672,000
kWh TG # 5	9,804,900	PSI Purch Reserved	0		
				Water 12"	13,291,000
Total kWh / Coal	16,395,900	PSI Purch Backup	0		
	· ·			Total Water	16,963,000
kWh / CT #6	0	PSI Purch Total	19,366,675		
Gross Gen	16,395,900	LMU System Total	34,842,435	Condenser	Water
				(gal	ions)
Plant Aux	920,140	Wheeling	3,695,724	Cooling #4	269,610,000
Net Gen	15,475,760			Cooling #5	417,890,000
				Total Cooling	687,500,000
Coal	Tons	Operating Time	Hours	rotal Cooling	000,000
Coal Start	4,595.54	Blr 5 / TG #4 Hrs Oper	672.0		
	,	•		Heat Rate	Btu
Coal Received	7,877.58	Blr 6 / TG #5 Hrs Oper	672.0	Boiler #5	15,164
Coal Burn Blr #5	4,345.53	CT #6 Hrs Oper	0.00	Boiler #6	12,501
Coal Burn Blr #6	5,329.27			Gross Coal	13,572
		Natural Gas	MCF		
Tot Coal Burn	9,674.80	Gas Burn CT #6	0	Net Coal	14,379
Coal End	2,798.32			CT #6 Gas	#DIV/0!
Notes:	SUPPLEMEN	TAL PEAK PURCHASE	WAS 50 110 KV		THE 12TH
Notes.		AK WAS 76,210 KWH @			
	<u> </u>				

NERATION DEPARTMENT

MARCH 2010 SYSTEM POWER REPORT

Generated	kWH	Purchased	kWH	City	Water
kWh TG#4	4,810,000	PSI Purch Supplemental	22,057,863	(gall	ons)
				Water 6"	3,898,000
kWh TG # 5	8,906,100	PSI Purch Reserved	0		
				Water 12"	14,309,000
Total kWh / Coal	13,716,100	PSI Purch Backup	0		
	-		1	Total Water	18,207,000
kWh / CT #6	0	PSI Purch Total	22,057,843		
Gross Gen	13,716,100	LMU System Total	34,949,643	Condenser	Water
		-	1,7,7,40-	(gal	lons)
Plant Aux	824,300	Wheeling	924,928	Cooling #4	206,550,000
Net Gen	12,891,800			Cooling #5	455,970,000
				Total Cooling	662,520,000
Coal	Tons	Operating Time	Hours		
Coal Start	2,798.32	Blr 5 / TG #4 Hrs Oper	457.0		
				Heat Rate	Btu
Coal Received	10,027.61	Bir 6 / TG #5 Hrs Oper	691.0	Boiler #5	15,635
Coal Burn Blr #5	3,269.81	CT #6 Hrs Oper	0.00	Boiler #6	13,305
Coal Burn Bir #6	5,151.82			Gross Coal	14,122
		Natural Gas	MCF		
Tot Coal Burn	8,421.63	Gas Burn CT #6	0	Net Coal	15,025
Coal End	4,404.30			CT #6 Gas	#DIV/0!
Notes:	SUPPLEMEN	 	│	│	THE 4TH
	SYSTEM PE	<u> AK WAS 67,220 KWH @</u>	13:00 ON THE 1	ST_	
·					

VERATION DEPARTMENT

APRIL 2010 SYSTEM POWER REPORT

Generated	kWH	Purchased	kWH	City	Water
kWh TG#4	0	PSI Purch Supplemental	33,040,978	(galle	ons)
				Water 6"	1,883,000
kWh TG # 5	. 0	PSI Purch Reserved	0		
			·	Water 12"	6,171,000
Fotal kWh / Coal	0	PSI Purch Backup	0		
				Total Water	8,054,000
kWh / CT #6	0	PSI Purch Total	33,040,978		
Gross Gen	0	LMU System Total	33,040,978	Condenser	Water
				<u> </u>	ons)
Plant Aux	0	Wheeling	-0-	Cooling #4	0
				Cooling # 5	0
Net Gen	0			Cooling # 5	U
				Total Cooling	0
Coal	Tons	Operating Time	Hours		
Coal Start	4,404.30	Bir 5./ TG #4 Hrs Oper	0.0		
				Heat Rate	Btu
Coal Received	0.00	Bir 6 / TG #5 Hrs Oper	0.0	Boiler #5	#DIV/0!
-					
Coal Burn Blr #5	0.00	CT #6 Hrs Oper	0.00	Boiler #6	#DIV/0!
Coal Burn Blr #6	0.00			Gross Coal	#DIV/0!
		Natural Gas	MCF		
Tot Coal Burn	0.00	Gas Burn CT #6	0	Net Coal	#DIV/0!
Coal End	4,404.30			CT #6 Gas	#DIV/0!
			NA 0 00 040 17	A(I, @ 44:00 C)	THE AAT!
Notes:		ITAL PEAK PURCHASE			<u>INC 141H</u>
	SYSTEM PEA	<u> AK WAS 68,610 KWH @</u>	14:00 ON THE 1	<u> 141H</u>	

ERATION DEPARTMENT

MAY 2009 SYSTEM POWER REPORT

171,000
546,000
017,000
•
,168,000
5,458,000
, ,
3,626,000
Btu
11,413
13,252
12,773
13,657
#DIV/0!
24TH

ERATION DEPARTMENT

RECEIVED ON: OCTOBER 18, 2010 IURC 30-DAY FILING NO.: 2762 Indiana Utility Regulatory Commission

SYSTEM POWER REPORT JUNE 2010

Generated	kWH	Purchased	kWH	City	Water
kWh TG#4	4,160,000	PSI Purch Supplemental	28,289,549	(gall	ons)
				Water 6"	11,695,000
kWh TG # 5	9,924,600	PSI Purch Reserved	0		
•				Water 12"	37,486,000
Total kWh / Coal	14,084,600	PSI Purch Backup	0		
				Total Water	49,181,000
kWh / CT #6	0	PSI Purch Total	28,289,549		
Gross Gen	14,084,600	LMU System Total	41558289	Condenser	Water
			111500010	(gal	lons)
Plant Aux	815,880	Wheeling	41,558,289	Cooling #4	218,880,000
Net Gen	13,268,720	,		Cooling #5	475,200,000
				Total Cooling	694,080,000
Cool	Tons	Operating Time	Hours	Total Cooming	
Coal	5,877.12	Blr 5 / TG #4 Hrs Oper	425.3	-	
Coal Start	5,677.12	Dit 37 10 #4 Tits Oper	125.0	Heat Rate	Btu
Coal Received	9,556.72	Bir 6 / TG #5 Hrs Oper	656.0	Boiler #5	10,867
Coal Burn Blr #5	2,054.86	CT #6 Hrs Oper	0.00	Boiler #6	12,242
00a, Ba, 11	_,				
Coal Burn Bir #6	5,522.56			Gross Coal	12,374
	•	Natural Gas	MCF		
Tot Coal Burn	7,577.42	Gas Burn CT #6	0	Net Coal	13,135
Coal End	7,856.42			CT #6 Gas	#DIV/0!
	-,				
·					
Notes:		ITAL PEAK PURCHASE			THE 28TH
	SYSTEM PE	AK WAS 87,200 KWH @	15:00 ON THE 1	<u>1TH</u>	
	SYSTEM PE	AK WAS 87,200 KWH @	15:00 ON THE 1	<u>1TH </u>	

RATION DEPARTMENT

JULY 2010 SYSTEM POWER REPORT

Generated	kWH	Purchased	kWH	City	Water
kWh TG#4	7,857,000	PSI Purch Supplemental	27,933,408	(gall	ons)
				Water 6"	28,268,000
kWh TG # 5	10,928,400	PSI Purch Reserved	0		16.42
			_	Water 12"	77,033,000
Total kWh / Coal	18,785,400	PSI Purch Backup	0		
	. (1997)			Total Water	105,301,000
kWh / CT #6	0	PSI Purch Total	27,933,408		
Gross Gen	18,785,400	LMU System Total	45,495,908	Condenser	Water
			,,	(gal	ions)
Plant Aux	1,022,900	Wheeling	1,208,194	Cooling #4	348,670,000
Net Gen	17,762,500			Cooling #5	459,570,000
				Total Cooling	808,240,000
Coal	Tons	Operating Time	Hours	rotal county	
Coal Start	7,856.42	Bir 5 / TG #4 Hrs Oper	744.0		
Joan Start	7,000.12			Heat Rate	Btu
Coal Received	7,005.23	Bir 6 / TG #5 Hrs Oper	744.0	Boiler #5	11,270
Coal Burn Blr #5	3,849.89	CT #6 Hrs Oper	0.00	Boiler #6	13,450
Odd Dam Di no	9,010.00				
Coal Burn Blr #6	6,390.61			Gross Coal	12,538
		Natural Gas	MCF		
Tot Coal Burn	10,240.50	Gas Burn CT #6	0	Net Coal	13,260
Coal End	4,621.15			CT #6 Gas	#DIV/0!
	,				
Notoo	CLIDDI EMEN	TAL PEAK PURCHASE	WAS 63 280 KM	/H @ 17·00 ON	THE 29TH
Notes:		·····			TIL AVIII
	SYSTEM PEA	AK WAS 90,860 KWH @	17.00 ON THE 28	71[7	

RECEIVED ON: OCTOBER 18, 2010

VERATION DEPARTMENT

IURC 30-DAY FILING NO.: 2762
Indiana Utility Regulatory Commission

AUGUST 2010 SYSTEM POWER REPORT

Generated	kWH	Purchased	kWH	City	Water
kWh TG#4	6,377,000	PSI Purch Supplemental	29,189048	(gall	ons)
				Water 6"	27,159,000
kWh TG#5	10,117,800	PSI Purch Reserved	. 0		
				Water 12"	73,291,000
Total kWh / Coal	16,494,800	PSI Purch Backup	0		
				Total Water	100,450,000
kWh / CT #6	0	PSI Purch Total	29,189,048		
Gross Gen	16,494,800	LMU System Total	1/1/402 /2 8	Condenser	Water
Closs Cell	10,494,000	Lino System Total	44,703,528		ions)
Plant Aux	980,320	Wheeling	1,815,013	Cooling #4	364,720,000
			1,812,		
Net Gen	15,514,480			Cooling #5	480,010,000
:				Total Cooling	844,730,000
Coal	Tons	Operating Time	Hours		
Coal Start	4,621.15	Blr 5 / TG #4 Hrs Oper	693.9		
				Heat Rate	Btu
Coal Received	10,912.33	Blr 6 / TG #5 Hrs Oper	720.0	Boiler #5	12,445
0 15 5 75	0.470.04				
Coal Burn Bir #5	3,450.61	CT #6 Hrs Oper	0.00	Boiler #6	12,880
Coal Burn Blr #6	5,666.18			Gross Coal	12,712
		Natural Gas	MCF		
Tot Coal Burn	9,116.79	Gas Burn CT #6	0	Net Coal	13,516
Coal End	6,416.69			CT #6 Gas	#DIV/0!
Notes:	SUPPLEMEN ⁻	TAL PEAK PURCHASE	WAS 69,800 KV	VH @ 14:00 ON	THE 10TH
		K WAS 97,700 KWH @			



Logansport Municipal Utilities
SIXTH AND BROADWAY, LOGANSPORT, INDIANA 46947 574/753-6231 FAX 574/753-9828

September 16, 2010

PHAROS TRIBUNE NEWSPAPER 517 East Broadway Logansport, IN 46947

RE: LEGAL ADVERTISEMENT

Gentlemen:

Please publish the following information two (2) times at your earliest possible convenience.

Please take notice that the following has been filed with the Indiana Utility Regulatory Commission (IURC) by the City of Logansport, Indiana:

Application of the City of Logansport Electric Department for approval of a change in the wholesale power tracker for Electric Service. This filing will be a decrease in electric rates that will affect all of Logansport Municipal Utilities electric customers. The current factor is .016641 per KWH and is proposed to decrease to .013815 per KWH. This was filed on September 16, 2010 and proposed to be approved by January 1, 2011.

Contact information regarding this filing may be made with the following:

Indiana Utility Regulatory Commission Secretary of the Commission Electric Division, 101 W. Washington St. Suite 1500 East Indianapolis, IN 46204 317-237-3037

Office of the Consumer Counselor 115 West Washington St., Suite 1500 Indianapolis, IN 46204 317-232-2494

If you have any questions, please contact the office of Paul Hartman, Superintendent of Utilities, at 574-753-6232.

Sincerely,

LOGANSPORT MUNICIPAL UTILITIES

Paul A. Hartman, Superintendent

PAH:rkb

Indiana Utility Regulatory Commission

Logansport Municipal Utilities

General Form No. 99P (Revised 1987) Tax I.D. 63-1253950 To: Pharos Tribune PO Box 210, Logansport, IN 46947

Cass County, Indiana
PUBLISHER'S CLA

		PUBLISHER'S CLAIM		
, -		L-478 nes, neither of which shall total mon of advertisement is set)	e	
-number of equivalent	lines			
Head - number of lines	s ,			
Body - number of lines	s			
Tail - number of lines	***************************************	•		
Total number of lines i	in notice			
COMPUTATION OF CHARGES				
34	lines, 1	columns wide equals		
	alent lines at	0.397 cents per line		\$13.50
Additional charge for r (50 percent of above	notices containing rule amount)	or tabular work		
Charge for extra proof (\$1.00 for each proof				
Total Amount of Cial	lm			\$13.50
Size of type: Pursuant to the provis and correct, that the amount claim	sions and penalties of C ed is legally due, after	thapter 155, Acts 1953, I hereby cer allowing all just credits, and that no		
Width of single column Number of Insertions, Size of type: Pursuant to the provis and correct, that the amount claim	ions and penalties of C	Chapter 155, Acts 1953, I hereby cer	part of the same has been paid Legal Adve	1. CCC erilsing Clerk
Width of single column Number of Insertions, Size of type: Pursuant to the provis and correct, that the amount claim	sions and penalties of C ed is legally due, after	Chapter 155, Acts 1953, I hereby cer	part of the same has been paid Legal Adve	of the state of th
Width of single column Number of Insertions. Size of type: Pursuant to the provis and correct, that the amount claim Date: Of PUBLISHERS AFFIDAVIT State of Indiana)	sions and penalties of C ed is legally due, after	Chapter 155, Acts 1953, I hereby cer	part of the same has been paid Legal Adve	of the state of th
Width of single column Number of Insertions. Size of type: Pursuant to the provis and correct, that the amount claim Date: O	sions and penalties of C ed is legally due, after	Chapter 155, Acts 1953, I hereby cer	Pub Notice of 3 Logansport ty ("MU") he a filing that v October 18.	enising Clerk Dic Notices Re-Bay Filling It Municipal Electric Utiliarity provides notice of will be made on or after 2010 at the Indiana Utiliarity
Width of single column Number of Insertions. Size of type: Pursuant to the provis and correct, that the amount claim Date: Or PUBLISHERS AFFIDAVIT State of Indiana)) SS:	ions and penalties of Coed is tegally due, after ctober 14, 2010	Chapter 155, Acts 1953, I hereby cer allowing all just credits, and that no	Put Notice of 3 Logansport ty ("Mu") ha a filing that y October 18, ty Regulation seeking a de	erilsing Clerk Dlic Notices Compared to the control of the contr
Width of single column Number of Insertions. Size of type:	notary public in and for Miche is the legal adversor for general circulation sh language in the city e printed matter attached in said paper for	chapter 155, Acts 1953, I hereby cer allowing all just credits, and that no r said county alle Aiten rising clerk of of Logansport in ed hereto is a	Pub Legal Adve Legal Adve Pub Notice of 3 Logansport ty ("LMU") he a filing that v October 18, ty Regulator seeking a de rates for e amount of s approved will consumed or proval and e CS, MS, GS, URC appr	erilsing Clerk Diic Notices Se-Day Filling I Municipal Electric Utili- are by provides notice of will be made on or after 2010 at the Indiana Utili- ty Commission (IURC) torage in its schedule of
Width of single column Number of Insertions. Size of type:	notary public in and for Miche e/she is the legal adver of general circulation sh language in the city e printed matter attach	chapter 155, Acts 1953, I hereby cer allowing all just credits, and that no r said county alle Aiten rising clerk of of Logansport in ed hereto is a	Put Notice of 3 Legal Adve Put Notice of 3 Legansport ("LMU") A filing that v October 18, ty Regular Seeking a do rates for e amount of \$ approved will consumed or proval and a consumed or seeking a do gravel and a consumed or proval and a consumer or proval and a	erilsing Clerk Diic Notices She Cay Filing I Municipal Electric Utiliareby provides notice of will be made on or after 2010 at the Indiana Utiliary Commission (IURC) corease in its schedule of electricity sold in the 100326. The Mingrill is be effective for energy in or after the date of apapplicable for rates RS, and IP. Toyal of the filing may be